H & 0l & AHS B Ml A

2N DED
M Ens |84 N (RSLSFR/USLS - 2/SIIE)
el HsnsE MEXH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wsut 8,293,042 9,019,465 NT26,423
= 448,010
[ 74,200
Jl 178,400
< 365,876
Al 7,226,55%
Gsus S48 N2 (USHEF/UHENS - EF/SIIE) 7,076,500 8,658,254 1,581,754
= 448,010
s 74,200
Il 178,400
= 365,876
Al 6,010,014
H=sus WX 5,497,043 6,669,350 1,172,307
= 446,660
s 74,200
Il 178,400
= 364,931
Al 4,432,852
H2EAE WEXIZ 1,248,990 1,241,390 7,600
= 500
S 163,667
Al 1,084,823
201 er23 | 1,190 1,190
01 At2teltl 1,190 1,190
OAILHASEINE AR S
70,0002 713 490
OHAl XtEZ X3
70,0002 x5H*13] 350
OuSSA 0lsHe SHRA2
70,0002 x5 *13] 350
203 HR=H| 1,000 1,000
03 A=A FAIH| 1,000 1,000
OuSdy gRFaA 1,000,000 1,000
207 ARl 40,000 20,000 20,000
01 S| 40,000 20,000 20,000
OAlUHA HEXE A2ES 20,000
ORMISZE BIAISE AEHZAL HFEH 20,000
307 elztol & 1,206,800 1,220,200 213,400
= 500
== 163,667
Al 1,042,633
09 2FAHEXS 1,206,800 1,220,200 213,400
OAILIHA WSIHE AISEel A8 110,000




SA: DED
ZH: FDS S8 N (DSLSR/HSDS - 2RSIIEH
el HsnsE MEXH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAILIHA WSEIHE SEE0l 484 40,000
Ogs WSIHE AIEE &42Y 1,000
= 500
& 250
Al 250
OAlUHA 220A &R 55,800
= 16,740
Al 39,060
OAILHHA 28AI HE X (Hl=21) 1Xt 894,150
== 146,677
Al 747,473
ONLIHA 2B THE IR (Bl42!) 1%K(
XEA) 105,850
SAed =42 94,000 90,000 4,000
[ 28,200
= 18,800
Al 47,000
307 elzto| & 94,000 90,000 4,000
= 28,200
[ 18,800
Al 47,000
09 2+LA2LS 94,000 90,000 4,000
O8Xcd &=aZe 94,000,000 94,000
s 28,200
== 18,800
Al 47,000
28Hd RIIELXS N= 2,000,000 2,800,000 A800,000
307 lztol & 2,000,000 2,800,000 A800,000
09 2+EAE2LS 2,000,000 2,800,000 800,000
OUUXIMAM 23 F=]Hl 22X 2,000,000
oA (112CH) 1,350,000
= B4 A1 (290CH) 450,000
< 5+2(158CH) 200,000
HASSAMEN X2 2EEY 4,620 3,600 1,020
308 XXM SO0IH 4,620 3,600 1,020
07 XL FE= 4,620 3,600 1,020
OHAZSALL BE+AE2S HESS
4,620,000& 4,620
Al X BAAY 481,000 522,000 241,000
= 144,300
Al 336,700
301 Eet2 NS 481,000 522,000 241,000
= 144,300




SA: DED
ZH: FDS S8 N (DSLSR/HSDS - 2RSIIEH
el HsnsE MEXH (SH9 H2)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
Al 336,700
14 JIEI2 43 481,000 522,000 241,000
OEAl 2R BAAFS (14TH)
481,000,000& 481,000
= 144,300
Al 336,700
SIEEUA(SIYEHA) HEXIA 389,494 366,073 23,421
= 46,000
= 103,048
Al 240,446
301 LBBNZ 389,494 366,073 23,421
s 46,000
& 103,048
Al 240,446
14 JIEt2 43 389,494 366,073 23,421
OSSEEHAI(SILEAl) HAXIR 389,44
s 46,000
& 103,048
Al 240,446
SHSEA(2MEH) MEXA 252,900 132,000 120,900
201 LEr2 | 2,900 0 2,900
01 At 22|l 2,900 0 2,900
OEEEIAl &2 2,900
307 QI2H0| M 250,000 132,000 118,000
09 2-LHEXS 250,000 132,000 118,000
OEH™”E B\l S&E4H 29X 250,000
EAl QI @EZn 111,900 171,760 259,860
201 L2 | 7,500 171,760 A164,260
01 AtR2telt] 7,500 171,760 A 164,260
OHAl E2 &2 150,000 *50CH 7,500
308 AXIHMISOI & 104,400 104,400
13 BI 12 SOICHEHE A X LAE AL 104,400 104,400
O=2H4| 30,0002 *290CH+ 12 104,400
BAIRE JtEs2 XA 52,200 54,720 22,520
= 14,616
Al 37,584
307 QI2H0| A 52,200 54,720 A2,520
& 14,616
Al 37,584
09 2AHEXS 52,200 54,720 A2,520
OEAl 23 2 XZ 48,720
& 14,616
Al 34,104




SA: DED
M Ens |84 N (RSLSFR/USLS - 2/SIIE)
el HsnsE MEXH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHAl 23 HES==2 X (XHH) 3,480
WS IR XAl 018 K& 72,000 72,000 0
) 24,000
Al 48,000
301 EetE2 NS 72,000 72,000 0
Il 24,000
Al 48,000
14 0Bt 2as 72,000 72,000 0
OuS2AA HIRHEAl OIE XIS
72,000,000 72,000
7l 24,000
Al 48,000
BASHEZ2CAAE R 2 3.061 4,029 A968
402 212t X+=01 & 3.061 4,029 A968
03 2I2+RAETAIS I 3,061 4,029 A968
OHAISHEE BRIAAH QX 22|
3,061,000& 3,061
SENS+HUSAR SHA2E 350,878 296,118 54,760
= 85,860
) 154,400
Al 110,618
307 @120l & 360,878 296,118 54,760
= 85,860
Jl 154,400
Al 110,618
05 212t =S 350,878 296,118 54,760
OSEDSHEHDEAR LAY 2(
J13) 154,400,000 154,400
Jl 154,400
OSEnSH(SAX SIS 2(
=Hl) 85,860,000 85,860
= 85,860
OSEnS+H(SAX SIS 2(
XEAI) 110,618,000& 110,618
SENSSHH(WSAX SEA) 1 7Y 96,000 150,000 154,000
= 46,000
= 13,800
Al 36,200
405 AtatE = 96,000 150,000 254,000
= 46,000
< 13,800
Al 36,200
01 AL =S F = 96,000 150,000 54,000
OSgns=t =(20) 92,000,000 92,000




FA WS
M Ens |84 N (RSLSFR/USLS - 2/SIIE)
el HsnsE MEXH (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 46,000
=S 13,800
Al 32,200
OSgus=t T (XHA)
4,000,000 4,000
MaAa =2 XA 340,000 0 340,000
= 170,000
[ 51,000
Al 119,000
402 QI2F X201 & 340,000 0 340,000
= 170,000
s 51,000
Al 119,000
02 QI EASEZ(0IETHR) 340,000 0 340,000
OM&aHA &8 X 85,000,000 *4CH 340,000
= 170,000
= 51,000
Al 119,000
tsws AMds 2el 513,479 778,366 A\264,887
HswsSAlE HEXE 386,242 395,338 29,096
201 2= 77,042 66,130 10,912
01 AtR2t2lt] 42,690 45,690 23,000
OS|UEHAl =S THAIAE 1COHE WA
1,380 «500H 690
OlsuSANLS (5T )Ll EHEA 42,000
osdd A del AFH EF
16,000, 0002 12+ 32,000
oANIE 523 FAade| ?E 9
1,000,000& 102 10,000
2 35234l 34,352 20,440 13,912
OsLsS SSEE MHIA ALY 2
5,000,000& «4=7| 20,000
OHAsdd &IILks 14,352
o=goXt MIIR=
16,0003 »41 04 2% 123 7,872
SHAZZOHIIBIT) MRS
15,0003 +36H 2+ 123 6,480
202 048l 2,200 2,208 VaN:
01 2L AL 2,200 2,208 A8
Ousdd g
100,0002x2& *113] 2,200
301 22N = 1,000 1,000
14 JIEt2 = 1,000 1,000
OSFESXNSAt S-AE Y ALrle) MNEy
= 1,000




SA: DED
M 5ks |84 N (RSLSFR/USLS - 2/SIIE)
ol s S AldE 2l (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 6,000 26,000 220,000
02 2B YA HE L 6,000 26,000 A20,000
OUsuE HelZAM e & AN 6,000
401 AIEHIX R0 300,000 300,000
01 A28l 300,000 300,000
Ok= s2d A & uA 183,000
ok sZ& Wi £X
14,000,000 * 1204 2= 168,000
oXIFAl STE HANL (AR &) £X
500,000 *300H 2~ 15,000
OBlA & SAl s2& FH 117,000
osZdd F& & Ut Al 4l
1,000,000 * 1290 2 12,000
odSAIE & 282N £X
5,000,000& *210H 2= 105,000
HAZZAIAR(BIS) S 110,000 350,000 240,000
403 AXIEHMSAH=0ld 110,000 350,000 240,000
02 SISOt =2 A P E A I 110,000 350,000 240,000
OHAHZAIAR(BIS) 725
110,000,000 110,000
HAZE AIAE(BIS) RXIE+ 17,237 33,028 15,791
308 AHXIHMSO0IA 17,237 33,028 15,791
13 SI[2S0He & EAS A 17,237 33,028 215,791
OHAHE AIAEI(BIS) KX
17,237,000 17,237
HEs E2wE SFIH 1,065,978 1,210,538 144,560
= 1,350
& 945
Al 1,063,683
SIS &AM 800,000 800,000 0
401 AlEHIZL SO 800,000 800,000
01 Al&H| 800,000 800,000
Ot IHEEMBAHBIH 37)
760,000,000 760,000
OATE CHEZM ZA
4,000,000& 102 40,000
WSOHNHAIEE &F - 2 163,158 361,506 198,348
201 =3 81,308 61,256 20,052
01 At22t2lt] 19,600 13,600 6,000
ORuS == Jtict IIBA =258 19,600
o&& 2Xt2 0Olst 1,300,000 #7902 9,100
oL /NS 2Xt2 0I5t
2,100,000 *57H 2= 10,500
02 s3=gHl 61,708 47,656 14,052




SA: DED
M 5ns 84 N (RSLSR/USLS - 2/SIIE)
¢ EE T2NS BFxH (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OusSAE &JIRs 54,408
cusSAZ| 60,0002 x650H A 123 46,800
odE2Ss 18,0003 * 1901 A+ 128 4,104
SIS 14,0003 1804 2% 123 3,024
oANIEEHEL
20,0003 =20 A+ 123 480
OuESHSI| MIHHEH =8
7,300,000& *12] 7,300
202 04| 1,600 1,600
01 2LHA b 1,600 1,600
OuSAE gF=2
100,000 x2& x2 2 +42] 1,600
401 Al HIZL 01| 80,250 300,250 220,000
01 Al&H| 80,250 300,250 /220,000
(OIME=elFSEINFE 26,250
S E e EINE, 250,000 #3571 A 8,750
SPNVNE=INEE, 250,000 #3504 A 8,750
oS AHXIH 250,000 #3504 A 8,750
Ounsdsl RAEx
700,000 *500H 2~ 35,000
OZES =A== 200,000 %1094 2 2,000
OL% uWESHS MOl wHSAH
8,500,000 +2JH 2= 17,000
CRuS o XE 73,320 15,032 58,288
201 el 9,320 10,520 1,200
01 At2telt] 4,000 4,000 0
O&8=J| Xtz 50,000 * 122 600
OusSHNE= 10,0002 »100H 1,000
ORIt 2elZ2 08 [l
600,000 43 2,400
2 35244l 5,320 6,520 21,200
O Rg=2 50,0002 *1CH*23 100
ORI 224 R 2
35,0003 * 12043 420
OWSXE g 7FHI
200,000 «2CH* 122 4,800
202 04| 4,000 4,512 A512
01 =LHOLI 4,000 4,512 Ab12
OusSkE 2= (2AUEZ0HI)
100,000 x2& x152] 3,000
OSEAEZZ 258 2 AIASA
100,000& x2& #53] 1,000
401 Al HIZ S 0HbI 60,000 60,000
01 AlZ8| 60,000 60,000
Ousge 2489 60,000,000 60,000
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FA WS
M 2% SH ISkt #IAMHA PH(LSYER/UHSNS - EFRSIIH)
el UESY STt gE (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
ONST Dls® oz
100,000 x2&* 102 2,000
M 2AHH(wS) (J1EHIIE}) 24,640 9,180 15,460
=238l 24,640 9,180 15,460
JI23Hl 24,640 9,180 15,460
201 et 3| 20,080 6,780 13,300
01 At2t2l] 18,280 6.780 11,500
ORA2g Izl 300,000 * 122 3,600
o3| 8,002 <1615 122 7,680
OMNREE TY(ZMEX S)
450,0002  12& 5,400
O#EIII| Xz 400,000 *42| 1,600
2 S22l 1,800 0 1,800
OoRER3 150,000« 12& 1,800
202 04l 960 600 360
01 2LHoIH 960 600 360
Ola2% =0l
20,0003 x16H+3 960
203 HR=4AH] 3,600 1,800 1,800
MU A2 LRSI 3,600 1,800 1,800
ORAMEZE =4 300,000& * 128 3,600
Hees (s (ZELXSNLY/XALCAI) 1,170,538 318,883 851,655
WA XIE 1,170,538 318,883 851,655
WA XIE 1,170,538 318,883 851,655
701 JIEtRI HSHES 1,170,538 318,883 851,655
01 JIEt=I AN ES 1,170,538 318,883 851,655
O=xtg2c| S8 M&E= 1,170,538




